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· SET -:~ 

~6€11~ g66'l/tli' g'91Q b'/6Q!?l 6'ti?t? (;/fi)Q ?fiCJ/£1/Q~ I 6Qej_ Pfq/~ Ori[ (;/fi)Q{l Q/~OMR 
·. (;lfi)Q tfQ6Q Q0tj'i) ~6){?~ ti/'91/919 QQ t:N/Ql, 6tlfi! ~/QI 

. . Qf!J.ef f9N66' ti/'91/919 ti?Q I , 
Each question has four alternative answers . Choose the cOrrect one 

and darken completely the appropriate circle in the OMR Sheet . 
. . with Black/Blue ball point pen . . 

g66'_i/ti? g'91Q F}_fiJi/ 1 ( '<lfii>) CJ6b' I 

Each question carries 1 (one) mark. 
0HfJ g'91Q (;lfi)Q fi'CJ I 

Answer all questions. 
q_4«J0~'11 : 50 

Time: 1 Hour . Full Marks : '-"n:~ 

Section-A (Physical Science) 

1. QG~1~ G'2J611Q <yem G~l§GQ '<IG 1. 

CJ~GQ 6Q6~19 GI~ tJQYll~ Q2211'Q? 

(A) 01 

(B) 02 

(B) 03 

(D) 04 • 
2. ' 

(D) CJIQG~ 

AR/ AXR-16 / P-1 / GSC/ os~08/SC 2 

02 

(C) 03 

(D) 04 

Which gas is entered into the 
packets of · chips to suppress · 

oxidation? 

(A) Carbondioxide 

(B) Oxygen 

(C) Nitrogen 

(D). Argon 

Contd. 
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3. 686~g,Q 6Q6~1£1 .'511~1 ~~Qq~ 3. 

~IQ6Q10Q. QQQ ? 

4. 

5. 

(A) 02 · ·-- · 

(B) 03 

(C) 04 

(D) 05· 

?i'6Y,11~ 8Q01~01gg> 0~~ 6Q@£1Q . 4. 

(A) 6Ql©0.q 

(8) '<l~?i§Qq 

(C) 6~1§~ 

(D) ~~~69~ 

Q<Ql~ gQ 0~6Q QIQ~ ~IQ~~QIQ~ 
~6Q'51 QQIQ6Q 6£1@ ~Q61 «lij i'<l 

~l'Q pH q_Q%Q ~ 8QQ@g £16~? 

(ht) ~Q Q62 

(8) ~& i'<l 

(C) '.RIQ i'<l 

. (D) §~ Q0Q ~Q Q2 86Q ~& i'<l 

5. 

SET:~ 
How many branched chain 
isomers are pqssible in pentane? 

(A) 02 

(8) 03 

(C) 04 

(D) 05 

Which one of the following is with 
the highest atomic size ? 

(A) Sodium 

(8) Aluminium 

(C) Chlorine 

(D) Oxygen 

How the pH value of the solution 
is changed when co2 gas is 
passed through pure water ? 

(A) Remains constant 

(8) Increases 

(C) Decreases 

(D) Remains constant for some-
• time and then increases 

6. QIQ6~1686~g, ~6J..6Q 6QG~1~ .6. How many co-valent bonds 
Q2<4°6£1 1g~ Q~ Q2~ ? are present in Cyclopentane 

molecule? 
(A) 12 

(B) 15 

(C) 14 

(D) 13 

. AR/AXR-16 / P-1 / GSC/OS-08/SC 3 

\P..) \2 

(B) 15 

(C) 14 

(D) 13 

P.T.O . 
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!· 
I 

7. 

8. 

9. 

CJ1Yll~iitgiq CSJ¥i§ '()IQ 6Q@~ §91U1 7. 

CJIOO~Q? 

(A) Al 

(B) Ag 

(G) Hg 
(D) Zn 
<q)_'()IQ @8QQ~'i?)_~Q Q~ Qg Qlq_6Q 8. 

Q~6Q 9121 QQl · 8~£JM I §G~lg GQQ 

6~QQ9 '<lf.J_t:JIQ 8.~~98 '(i%J,1? 

(A) AgCI 

(B) Ag
2
0 

(C) Ag2S-

(lr>) Ag2c.0 3 

6Gl9'<1@~Q6Q~ '<IQ" Gg19'<1 iJWQ · 9. 

QxJ6] «IYij_~GQ '<IQ Q¥i~ GQQOIGQ 

Q~lgGQ @QQ G~gGQ «19llg CSJ~§Q 

CSJ§QR ~ij 62Q ? 

(A) 'C' 016Q . · 

(B) 'F' OIGQ 

(@) 'C' <3 'F' 91<t16Q 

(D) 'P' <3 'F' 91<t16Q 

10. CJl91 '51Q1Q6Q ~~ ~RQ1Q 6~~Q tO. 

@86£llg QQ '51Q1Q Q9Q (J 0 '51Q 

IT6~1~g €)g<q11 CSJSQ1~Q g1Yi Q' Gi ? 

(A) CJ~~IG«Jl§\j\ Q69!§0 

(~) '<lyt. CJIQ_. CJIQ 

(C) '<l~-6Q Q6919° , 

(D) ~- 9. ~1§g: 

AR/ AXR-16 I P- I / GSC/ OS-08/SC 4 
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Which one is essential for 
preparation of amalgam ? . 

(A) Al ... ·,\ -. 

(B) Ag 

(C) Hg 

(D) Zn 

" ' 

Silver articles turn'black when kept 
in air for some days. Which of 
the following compounds is 
primarily responsible for it ? 

(A) AgCI 

(B) Ag
2
0 

(C) Ag2S 

. (D) Ag
2
C0

3 

. At ·what position an object is to 
be placed in front of a Convex 
lens and a Concave mirror, so that 
the nature of the images will.be 
the same in both the cases ? 

(A) At 'C' 

(B) At·'F' 

(C) Between 'C' & 'F' 
;. )( 

(D) Between 'P' and 'F' 
What is the name of the process 
for taking the photograph of the 
inner parts of the boc;iy using the 
magnetic field produced inside 
our body? 
(A) Ultrasonic.Imaging 
(B) MRI 

(C) X-ray imaging 

(D) C. T. Scanning 

Contd. 

Downloaded From www.OdiaPortal.IN

Visit study.odiaportal.in for more prvs. questions



SET:[~] 

11 "' '<IQ '<!. ~. 6gb~6Q~Q_6Q 6Q@£1 11. Which is not necessary in an 
· CJIQ'51~Q 6'i?l'ml~EJl'<l 7 r - A. C. generator? 
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. 14. 6Gi£1~ ~~ ~~6Q 1 OOW {3 .11 OV 14. 

6Q~l£11Q~ I ~21{jl_ 11 OV QIQ~6Q 

Q0~~ QQIG6Q 91~1Q ~gE)QICI 6Q69 
62Q ?' 

(A) 11 Q 

(lat) 100 Q 

(C) 121 n 

(D) 210 Q 

15. 50 81~1Q_ Q~~ -6Q~<;q_ Q29 -20 15. 

. rn~IQ_Q c.igy ~Q 6Q~<;q_ QGIQ Q~6Q 
~ . ~ . ' 
~2 6Q~ QO~~Q 6t:rl~ ~91 6Q69 

62Q? 

(A) 456Q.0. 

(13) 33.3 6Q.0. 

(C) 256Q.0. 

(D) 16.56Q.0. 

.,.... 
16. 6~£1 ~Q ~6.~16£1Q~ Gl~IQ~ Gl6£1? 16. 

(A) MgO 

($) ZnO 

(C) so2 

(D) N02 

AR/ AXR-16 I P- I I GSC/ OS-08/SC . 6 

SET: IA] . 
An electric bulb is inscripted as 
1 OOW and 110V. If it is connected 
to a 11 O V line, what will be its 
resistance ? · 

(A) 11 Q 

(B) 100 n 

(C) 121 n 

(0) 210 Q 

What will be the ~ocal length of 
the lens combination when a lens 
of power 50 is kept in contact with 
a lens of power-20 ? 

(A) 45cm 

(8) 33.3cm 

(C) 25cm 
r 

(0) ·16.Scm 

Which is an amphoteric oxide ? 

(A) MgO 

(B) ZnO 

. (C) so 2 . ~! 

(D) N02 

Contd . 
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SET:~ 

17. 6~1~ 6Q@ ~Q~ ~l~Q ~'21~1~ 17. Bronze is the alloy of which two 

metals? 

(A) 't1f1.I (3 §Q> 
' 

(A) Copper and Zinc 

(8i) 't1f1.1 (3 ~61 (B) Copper and Tin 

. (C) «11«1 I (3 ~61 (C) Lead and Tin 

(D) §~ <3~61 (D) Zinc and Tin 

18. ·. 6Q@~ -~6QQ£1Q,Q' ~-IQ'<l,Q, «191_2 18. Which one does not belong to 
~62 ? Dobereiner's Triad ? 

(A) Li, Na, K (A) Li, Na, K 

(B) N,P,As (B) N,P,As 

(C) Ca, Sr, Ba (C) . Ca, Sr, Ba 

(D) .. Cl, Br, I (D) Cl, Br,I 

19. §6~1~ Ql«JIQ§Q ~§~QI~ 6Qg 19. · Which type of reaction is the 
~QIQQ g§~QI ? following chemical reaction? 

Ca CO ~I~ ) Cao +co 3 . . 2 

(B) 't118'9]121 

AR/ AXR-16 / P-1 / GSC/ OS-08/SC 7 

CaC0
3 

heat >CaO+C0
2 

(A) Decomposition 

. (B) Endothermic 

(C) Oxidation and reduction · 

(D) · Both decomposition and 
endothermic 

P.T.O. 
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20. 

21. 

~6t()I~ 6Q@£1 'S]§CJY.1, £1_68 QYQ21Q 

QQlltJI"(] ? 

(A) NH40H 

(8) Ca(OH)2 

(C) Na OH 

(§>) Mg(OH}2 

'S]'&1Q£J.~Q 6~Y11£1g'Q VJl~IQQ CJci 

' 'i<d'.l@~QI €Q6~, ~6<(.11~ Y1~'91_ 6Q@~ 

"(]Q QQ 6Ql§Q Ql~Q ~ ? 

. (A) VI 

(8) ·12 R 

.Vt 
(~) Q 

. (D) 

(C) QQ1~£> 

(D) 'S]Q1~£> . 

, ·. 

AR/ AXR -16 I P- I I GSC/ OS-08/SC . 8 

20. 

2L 

Which one is 
antacid? 

(A) NH40H 

(8) Ca(OH)
2 

(C)_ Na OH 

(D) Mg(OH)2 

Vt 
(C) Q 

v2 . 
(D) R 

SET:~ 

used as an 

22. Due to which phenomenon of 

light, the stars twinkle at night in 

· .the sky? 

(A) Atmospheric refraction 

(B) Scattering 

(C) ·Diffraction 

(D) Dispersion 

Contd. 
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SET: [K) 
23. ~~Q «J~IGQ1gg x:11~1<Q\ ij_~%~s 23. The power of accommodation of 

(A) Qg1gQ1 

(8) ~~QQI 

{C) ~~fi~t 

(I!}) QQ.m£11 ~1°«16~'511 

24. 

• 
~Q~ ~~~ 6Qg Q~4~ ~~QQ61Q 
«l0 6Q9 ? 

(A ) ~§6QICl1 

l'B) ~~IO'IOl, 

{C) Q(3~1~ 

- {D) 6@1Q£'?1£'Q 
' ' ' 

24. 

eye js prjmariJy possibJe dve to 

which one? 

{A) .. Iris 

(8) Retina 

{C) Pupil 

(D) Cilliary muscle 

The symbol of which electrical 
equipment is shown in the given 
figure? 

{A) Resistor 

{B) Ammeter 

{C) Rheostat 

(D) Voltmeter 

25. ~@~ ~QIQ ~16QIQQ E;Qg ~~QI «12 25. Tyndal effect is related to which 

«J~Q9 ? phenomenon qf light ? 

(A) ~§«JQ6l . {A} Refraction . 

(8) Scattering · 

(C) Total internal reflection 

(D) Dispersion 

. AR/ AXR-16 I P-1 I GSC/ OS-08/SC 9 P.T.O. 
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' ' 

26. 

27. 

. SET:~ 

Section -B (Life Science) 

TI ~Ql91 (3 tt ~~Ql91 QI~ 621Qe!_6Q 

6Y16@QQ' OOYI ~~16Q 6QQ~'9150°/o ' . . 

~'YQIQ1 ~SlQ~~ ~UG'~ g~ ()g()Q ? 

(A) Tt x'Tt . 

(B) TTxtt 

(C) Tt xtt 

. (D) tt x tt 

''Yl~G'G Q~QQSJ' Q~ Q'<J 'YQQg 

QQeJ_E)Q ? 

(~) 91QQ ~IQ_QQ~ 

(8) ~Q~ (JIQQYl~I~ 

(C) '<!. ~IQ. <381Q~ 

26. 

-. 

27. 

. If TT and tt are dominant and 
recessive characters respectively, 
then according to the Mendel's 
law from which 50 o/o offsprings 
with recessive character will 
born? 
(A) TtxTt 
(B) TTxtt 
(C} Tt x tt 
(D) tt x tt 

Who propounded the theory of 
'Natural selection' ? 

(A) Charles Darwin 

(B) · August Weismann . 

(C) A. I. Oparin ·. 

(D) ~1~6Q ?;QQ_ (D) Stanley Miller 

28. 6~Q Q~IQ.6Q 6QQ~ ~~Q t:lQYllS16Q 28. Which one is present in more 
a 1-<1 ? quantity in biog as ? 

(A) . ~Q'IQQI~ (A) Carbon dioxide 

(Ii) ?i6ag 
. ' (B) Methane 

(C) g1Q~~ Wi~QIQ~ (C) Nitric oxide 

(D) QQg1g 
" (D) Hydrogen 

. 29. t]QQ0 rJl6Q E)QC($<qJ_~Q ~t]Q~Q ~~§ ? 29. Which are the decomposers in 

(A) . <a<ig QGQ . the ecosystem ? 

(B) ~616Q1g1 'S]IS11 
.(A) Green plants 

(B) Herbivores 
(C) YJl 0 Ql'811 'YISJ1 (C) Carnivores 
(~) Qlg151 (3 QQQ (D) Bacteria and fungi 

AR/AXR-16 / P-1 / GSC/ OS-08/SC 10 Contd. 
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SET .. :~ 
39. GQ~ !J~Q@ YltQG~IQ~~IGQ QY112~ 39. Which is the process completed 

(4) .'<J.QIQIQ Qe;]g 

(8) QI~~ ~Y,l, Qe;]g 

{C) <qj.IQGQIQQ~ 

(D) GS~~ ~S 

in mitochondria ? 

(A) Alcoholic fermentation 

(8) Lactic acid fermentation 

( C) Glycolysis 

( o) Krebs Cycle 

~- ~ 

40. GQ~~ Yl~~Y <Q]IQ ~@Q ~0'51 trtE>~ ? 40. Which is not a· part of human 

(A) g1Q1rn~r 

(8) ~Qg1 . 
) . 

(C) gGQ~ 

(I>) GQl~QQI 

respiratory syst~m ? 

(A) Nasal cavity 

(8) Pharynx 

(C) Gullet 

(D) Alveoli 

41. ·6Qici£'Q"'- '£1Q<tQ'6:11Q 2QGrng,' 41. Which is called 'Pregnancy 

~21fll'<I ? hormone'? 

· (A) 6~6~1ijQ~ 

(Ii) Q6§16~ 

( C) G!J IGgijQ~ 

(0) QIGQIG~Q~ 

(A) Testosterone 

(8) · Estrogen 

( G) Progesterone · 

(D) Vasopressin · 

42. 'JQ6Q'i31 ~<;£fl1Q1 GQ~ QQQ~ ~QQ 42. Which is the fungus that can 

~96Q~ C3 ~~96Q~ ~& Q6Q ? produce both zoospqre and 

(A) YJ._YQQ. . 

(~) 'JIQf.!.QYI, 

(G) G'JgQQQq 

(0) qGQI~~~ 

AR/ AXR-16 I P- I I GSC/ 05-08/SC 13 

conidia? · · 

(A) Mucor 

(8) Pythium . 

(C) Penicillium 

(D) Ulothrix 

P.T.O. 
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SET:~ 

43. yt'ffil@16]_ 6Ql@V1 ~lef?iQ '91§1161 ~~ 43. 

62QI ~QCJ..'Ql G' 61 IQ121fll'<I ? 

What is called to the duration 
between development of primary 
spermatocyte from spermato­
gonium? (.4.) ~~ ~IQ~I 

(8) ~~6Jg ~IQ~I 

(C) ~6Qtqig ~IQ~I 

(D) 8Q8~g ~IQ~I 

\!.C.-... - ..:.I 

44. 6G~~ ~cg' gQ@61 81QQV1,@~Q ~IQ1 

8~§? 

(A) <q_%Q6~101 

(8) '<IQIQ~I 

(C) G8Q-9 

(8) Ql6~6~101 

45. q_QQ· 6Gt5 ~0'616Q 6GQ'ffil ~IQG 
6Gl@01g ef l~t§ ? 

(A) ~§0@'ffil C3 <CJ'~GI 9~ 

(8) Q'ffil0@'ffil (3 <CJ'~GI 9~ 

(@) Q0 6G'61Q 9~ (3 Q'ffil0@'ffil 

(0) Q0 6G'61Q 9~ (3 <CJ'~GI 9~ 

46. q_Q~ 918 E;Gg !(]@l({,IQI 081 

!(]IQ8@Q? 

· (A) ei6Y119i~Q 

(B) ~Gl6010~16g19i~Q 

,. (€) 01E)g19i~Q 

(D) ~~<CJ''ffi'G 

AR/ AXR-16 I P - I I GSC/ OS-08/SC 14 

(A) Phase of growth 

(B) Phase.of multiplication 

(C) Phase of differentiation 

(D) Phase of maturation 

44. Which is the permanent process 

for family planning of men ? 

(A) Tubectomy 

(B) ELISA 

(C) Qopper-T 

(D) Vasectomy 

45. In which parts of the flower are 

there only germ cells ? · 

(A) Calyx and Gynoecium 

(B) Corolla and Gynoecium -

(C) Androecium and Corolla 

(D) Androecium and Gynoecium 

46. With which instrument can root 
pressure be measured ? 

(A) . Thermometer 

(B) Sphygmomanometer. 

( C) Manometer 

( D) Reflector 

Contd. 
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- - ~ 47. W@Q <()'116QIG' !JGQI~ 0~Vl, 6~G' 

CJ~Q 601G'I (3 Ql~Y!80 ? 

(A) QIH CJ9~ 

(fi) Ql0 §QQ 

(C) Xi'~Sl CJ9~ 

(D) Xi'~Sl §Q~ 

48. @§~9'iii e~ 0~~'iii ~<()'11(.J = 

(i) '<lGrn§rn gQ6Q CJ~Qsi1a 

(ii) '<l601§CJI '51Q1Q 91Q !89QfQQ 

(iii) '51Q1Q6Q ~~QllQ <()'IQl9<()'1Q~ 

'<lG0@CJr «!~ G21Qrn6Q . 

(A) (i) 6~ G~ (ii) <3 (iii) ~Q. . , . 

. (ri) (i) ~Q Q~ (ii) (3 (iii) 6~ 

(C) 

(D) 

49. 6Q@~9Q QG GQ ~Q . 
~H21~Y QQ81'§ ? e 
(A) ~~ , , <3 '<l@J.Q~ 

(8) QIQGqlQIQ§~ (3 'Qe.!_Q~ 

(~) 6t?.IQ6g~ (3 ITIQ6G'f 6~1q 

(B~ 6q.IQ6~~ (3 '<le.!_Q~ . . 
~ ......... 

691~ ~~Q !8Q61 !80~1'iii 6QQG' 

§a§~ QQeJl'<l ? 

(.l) 21Q691eJIQl0Q, 

(8) 91~ 91@~ 

(C) VJ.~Y,ll QI~ 

(D) 9Q. 0@~ 

AR/ AXR-16 I P-1 I GSCI 05-08/SC 15 

SET:~ 
4 7. Out of the four chambers of.heart 

which one is more thick and 
functional ? 

(A) Left auricle 

· (8) Leftventricle 

(C) Right auricle 

· ( D) Right ventricle. 
48. Rea·d the statements and mark 

the correct-one: 
(i) Ammonia is insoluble in 

water ~--. 

(ii) Ammonia is har ful tot e 
body • 

(iii) Ammonia ma~ be formed 
as a esult of protein 
metaoo ism 
{i) csor eet but (ii) & (iii) 
wrong · 
rn wrong but (ii) & (iii) . 
correct · 
(i) & (ii) correct but (iii) 
wrong 

(D) (i) &( iii) wrong but (ii) 
correct 

49. Which a(e the inducers of 
flowering in plants ? 
(A) Auxin ~nd Ethylene 

(8) Cytokinin and Ethylene 

(C) Florigen and Phytochrome 

(D) Florigen and Ethylene 

50. Which one does reguiate the 
secretor}i power of the pituitary J 

gland? · 

(A) Hypothalamus 
(8) Midbrain 
(C) Spinal cord 

· (D) Hind brain 

P.T.O. 
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SET: [A] · 

~OO~Q~I . 

ADDITIONAL PAGE 
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